
 

bison-gear.com  Page 1 of 8 

 
Camping Table  

Installation Guide 
TBL-CAMP-02 

 

 

 

 

 



 

bison-gear.com  Page 2 of 8 

 Before you start 
Familiarize yourself with these instructions. Ensure that all listed parts and 
hardware are present in package. Gather the required tools. The installation 
requires one adult people. 

 Part list 
No. PART QTY IMAGE ☒ 

1 Camping table  1 

 

 

2 Left guide 1 

 

 

3 Right guide  1 

 

 

4 Upper guide 2 

 

 



 

bison-gear.com  Page 3 of 8 

5 Back bumper 1 

 

 

6 Table closing 1 

 

 

7 
Flange nut  

M6 
DIN 6923 

2 

 

 

8 
Flange nut  

M8 
DIN 6923 

4 

 

 

9 T-Slot M8x20 
bolt 4 

 

 

10 Bolt M6x12 
ISO 7380-2 2 

 

 

 
 List of necessary tools1: 

- 4 mm Allen Key (Hex) 
- 10 mm wrench 
- 13 mm wrench 

 
 

 
1 NOTE: The tools are not included in the set. 



 

bison-gear.com  Page 4 of 8 

 Installation: 
 

Follow the steps below to install product correctly: 

 

1. Start by preparing the product parts and gathering the necessary tools. 
 

2. Screw together left guide, right guide and back bumper together using 
M6x12 bolts and M6 nuts. 

 

 

*** 

If you have Roof Rack form Bison Gear with camping table side mount 
possibilities, you need to remove some parts from your roof rack before you 
start installing the camping table guides. 

 

 



 

bison-gear.com  Page 5 of 8 

A. Unscrew the rail gap cover (unscrew the three M6 flange bolts and 
nuts) from the side where the table will be slid out (left or right). 

 

B. Remove the support bracket (unscrew the three M8 flange nuts). 
Remove the middle T-Bolt, the side bolts you can leave – you can 
use it to screw the table guide. 

 

 

*** 

3. Pre-screw the table guide to the roof rack. Place the upper guide on the 
left and right guides (the oblong holes in both parts should match). Screw 
the whole construction to the roof rack using M8 T-slot bolts and M8 



 

bison-gear.com  Page 6 of 8 

flange nuts. There are many holes in the guides, choose the best ones 
for you and your roof rack. 

 

 
4. Check the dimension with the following drawing. Regulate if it 

necessary and tighten the nuts. 

 

 

5. Slide the table into the previously assembled guides and close using 
table closing part (regulate the latch if necessary). 



 

bison-gear.com  Page 7 of 8 

 

 

 

Make sure that everything is mounted properly, and all the bolts are tightened. 
If it everything is correct, your work is done. 

 

 

After driving 50km with table, check all the bolts and retighten them if 
necessary. 
 

 

 

 

 

 

 



 

bison-gear.com  Page 8 of 8 

 

 

 

Have a great time with Bison Gear product! 

 

 

Email: contact@bison-gear.com 

Phone: +48 505 642 981 


